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AIBIO| StEGHs BREY X4 19,373,496 8,579,280 794,216
= 700,000 700,000 0
< 456,000 456,000 0
ES 2,200,000 1,200,000 1,000,000
Al 16,017,496 16,223,280 205,784
MAH=Q e e 3,582,816 3,655, 196 A72,380
=XRX 22 2,181,626 2,250,776 269,150
401 AIEHI L 2 THHI 2,181,626 2,250,776 269,150
01 Al 2,165,238 2,234,388 269,150
ONIXNTR(B1S,528) BA=NM RUB2IB
At 210,453,0002! 210,453 218,453 £8,000
OM2X 7 (535 . 545,94 0S) IX=X0 R
NECEN 140,319,000% 140,319 148,319 £8,000
OMBNT(ES A4S 418) IL=XU X2
2l S At 180,070, 000& 180,070 185,070 A5,000
ON4X 7 (425, 438) BASKMH RAU2IB
A 88,915,000& 88,915 93,915 25,000
OMSX P (H01S) SE=SXH RIS A
140,750,000% 140,750 147,000 £6,250
OM6X 7 (4 B2S) ZRSXH RAB2IBA
31,205,009 31,205 34,805 £3,600
ON7TNR(MBES) BASXH RA2ZA
153,992, 0002 153,992 157,592 £3,600
ONBX T (AAES) BRSXH RA2ZA
149,899, 0002 149,899 153,499 £3,600
OMIXP(WUSS) BE=XM RAB2l B A
160,400, 0002 160,400 164,000 £3,600
OMIOKP(S2LS) SESXH RAB2IBA
302,890, 000%! 302,890 307,890 £5,000
OMNXP(SRES) SESXH RIS
185,899, 0002 185,899 192, 149 £6,250
OHMIXP(2FS) SESXH RIS A
105,749,002 105,749 111,999 £6,250
OZYZH +2 SX2IBA 200,569,0008 200,569 205,569 A5,000
CEEESE 2229 UAAE MY 281,001 283, 181 A 2,180
307 21201 & 280,101 282,281 A2, 180
05 SI2t9IEt 3 280,101 282,281 £2,180
ORHHSIS B2l2Y QIASE
280,101,0009 280,101 282,281 ~2,180
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SA - () - NRANY - BES 0 &k 7= HDz2
—AAMUSE 2s01F 16,106,000& 16,106 24,000 AT,894
—IUsd =2=s01F 16,106,000& 16,106 24,000 NT,894
—=F3¥ 2s01F 16,106,000& 16,106 24,000 AT,894

HelHY A% Ooi=sXl 22 (EHS 20 0la) 72,100 79,000 6,900

401 AIEHI L 2CHYI 72,100 79,000 26,900

01 A& dl 72,100 79,000 A6,900
OHUEY 4% 0= 222e (yus &

O O &F) 72,100,000& 72,100 79,000 A 6,900

SAN=Z ZEAME 80,300 80,864 A 564

= 24,000 24,000 0

Al 56,300 56,864 A 564

401 AIEBI L 2 CHEI 80,300 80,864 A 564

< 24,000 24,000 0

Al 56,300 56,864 A 564

03 Al 2 THHI 300 864 A 564

OZA=2 EHAY 300,000 300 864 A 564

LEUSE OfASHE I8 £X 200,170 201,440 A1,270

ES 200,000 200,000 0

Al 170 1,440 A1,270

401 AIEHI L 2 CHYI 200,170 201,440 ~1,270

ES 200,000 200,000 0

Al 170 1,440 N 1,270

03 Al R THHI 170 1,440 A 1,270
OLYUDY OhAZAUH et SxIAY

170,000& 170 1,440 A 1,270
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4,000,000,000& 4,000,000 3,000,000 1,000,000

ES 1,000,000 0 1,000,000

Al 3,000,000 3,000,000 0
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dFY2HIH (S 22l) 2,695,590 3,345,590 A 650,000
eI 23 2,646,284 3,296,284 A 650,000
QA 2H 2,646,284 3,296,284 A 650,000
101 @124l 2,646,284 3,296,284 A 650,000
03 RIHAZ 22 = 2,646,284 3,296,284 650,000
OZ3zcld s & RFUH3E 555,040 1,205,040 A 650,000
—EXZ(F3HEA) 550,000, 000& 550,000 1,200,000 A 650,000




